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(a) wilansmeaniby Jobevaluaﬁonv Descrite bneﬂy‘
the procedure to the’ adop“ted for makmg; |
}quantr%ve eiraluatxoﬁ of Jobs af the operators
level. =~ i7- ’ e L SE - 10

©(b) “Productlvaty is ameans of i mcreasmg the svelfax:e_

! "”fof the nation. ”Iustlfy the statement. 10
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o (a) 7Descr1be systematlc procedure of work study,
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(a) What is economic order quatmty A Denve the_
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(b) The rate of use of a oartwular raw matenal ﬁ'om .

. stores is ZOunItis per year “The cost of placing and

menﬁgmomeﬂeﬁswmmﬁea&mt o
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percentl Year is 0 16 and it depends upon average
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(a)
the assumpuons of break even analysxs 9ﬁnhst its
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‘ ’reducnon of 5% thlS year CaIculate how many :
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ABC company sold 5 00 000 htres of pamt with
: vanable costof Rs. 28/- per htre every yehr Each

litre contnbutes 30% of: ilss trevenue to fixed )cost
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Explain the ptccedurc‘for scheduling ‘n’ jo_bs on
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What is just in time in 'prodi;ctiqn planning and
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(a) Management mfonnat10n system LR
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(b) Producthfecycle _ 20

9. - TExplain ,thefolloMngr ‘
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V_Lfaiad;its analysis. - 20




